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307 glz2tol & 179,336 160,000 19,336
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< 8,550
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S 6,960
Al 27,840
301 gEtE L= 34,800 33,600 1,200
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Al 27,840
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< 6,960
Al 27,840
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< 43,680
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< 43,680
Al 174,720
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Al 38,360
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OOE0lE 2SNAY DRFA 4o
2,000,000& *23| 4,000
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01 QIZEXIE2AIE 2 X 10,000 10,000 0
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402 SI2FXHE0| & 3,350 6,000 A 2,650
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01 QAN SAIE E =X 3,350 6,000 A 2,650




2N
X ZH -
L= B

el

SXE3
2SN E
Heold Jis:ead

= A

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

OZOHOtO & 0IE ZHldlI (& old)
1,350,000 *19H 2

OO ol& ZHldl(YWAO &l 0l &)

2,000,000& 100 £

= MW

= W

1,350
675
202
473

2,000
1,000
300
700

= MW

60,000
30,000

9,000
21,000

60,000

402

=
N

F
[

ttE0ld

= MW

60,000
30,000

9,000
21,000

60,000

01 2zt

>

!

tEAHE X
Ol JHE=(tct 2EHe0ld)
30,000, 000& *2J4 2=

O

r

o

= N H

60,000

60,000
30,000

9,000
21,000

60,000

= M

645,100
129,020
516,080

697,000

A51,900

ATHOt Ol4r X stdl XI&

H

Al

645,100

129,020
516,080

697,000

A51,900

in

Al

645,100
129,020
516,080

697,000

51,900

01 A28 H =62

OMMO 014 DSt 9st3 U 2948
0

OMOoL Ol & XA CHetdst=
131,000,000& 14!

H

Al

= H

645,100

514,100

102,820
411,280

131,000
26,200
104,800

697,000

A51,900

H

Al

254,886

71,250
183,636

138,138

116,748

H

Al

196,080

71,250
124,830

70,908

125,172




2N SR

HH: HH2ILH(SEXNFMY)

Crel: o2 ol (SN (el @)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
el 2gl 53,580 70,908 A17,328
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Al 71,250
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PRERS 1,930 35024 122 8,106
202 o4 Hl 6,480 6,720 A 240
01 SLHO I 6,480 6,720 A 240
OJlzgs =80l 6,480,000 * 14 6,480
203 R =& 7,500 7,500 0
01 J122gg =8| 3,300 3,300 0
OAN=R=E 3,300,000% * 14 3,300
04 BH2AAREAY| 4,200 4,200 0
SA2YYR =T 350,000 * 122 4,200




